uva Unline Judge

12049 Just Prune The List

You are given two list of integers. You can remove any number of elements from any of them. You
have to ensure that after removing some elements both of the list will contain same elements, but not
necessarily in same order. For example consider the following two lists

List #1 [ 12321
List #2 | 12523

After removing 1 from first list and 5 from second list, both lists will contain same elements. We
will find the following lists after removing two elements.

List #1 | 123 2
List #2 | 122 3

What is the minimum number of elements to be removed to obtain two list having same elements?

Input

The first line of the input file contains an integer 7" (7" < 100) which denotes the total number of test
cases. The description of each test case is given below:

First line will contain two integers NV (1 < N < 10000), the number of element in the first list and
M (1 < M <10000), the number of element in the second list. The next line will contain N integers
representing the first list followed by another line having M elements representing the second list. Each
integers in the input is 32 bit signed integer.

Output

For each test case output a single line containing the number of elements to be removed. See sample
output for exact format.

Sample Input
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Sample Output
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